

AN EXPRESSION FOR CENTRAL BELL POLYNOMIALS

DAE SAN KIM, GWAN-WOO JANG, D.V. DOLGY, AND TAEKYUN KIM

ABSTRACT. Recently, the central Bell polynomials were introduced by Kim-Kim in [12]. In this paper, we derive an expression for these polynomials involving the central factorial numbers of the second kind.

2010 MATHEMATICS SUBJECT CLASSIFICATION. 11T23, 20G40, 94B05.

KEYWORDS AND PHRASES. central Bell polynomials, central factorial numbers of the second kind.

1. Introduction

For $n \geq 0$, the central factorial sequence $x^{[n]}$ is defined by

$$x^{[0]} = 1, \quad x^{[n]} = x\left(x + \frac{n}{2} - 1\right)\left(x + \frac{n}{2} - 2\right) \cdots \left(x - \frac{n}{2} + 1\right), \quad (\text{see [4, 5, 6]}), \quad (1.1)$$

where $n \geq 1$.

For all nonnegative integers n, k ($k \leq n$), the central factorial numbers of the second kind are defined by the coefficients in the expansion

$$x^n = \sum_{k=0}^n T(n, k)x^{[k]}, \quad (\text{see [1, 4, 5, 14]}). \quad (1.2)$$

From (1.2), we can derive the following generating function of the central factorial numbers of the second kind

$$\frac{1}{k!} \left(e^{\frac{t}{2}} - e^{-\frac{t}{2}}\right)^k = \sum_{n=k}^{\infty} T(n, k) \frac{t^n}{n!}, \quad (k \geq 0). \quad (1.3)$$

Recently, Kim-Kim introduced the central Bell polynomials which are given by the generating function

$$e^{x(e^{\frac{t}{2}} - e^{-\frac{t}{2}})} = \sum_{n=0}^{\infty} B_n^{(c)}(x) \frac{t^n}{n!}, \quad (\text{see [12]}). \quad (1.4)$$

From (1.3) and (1.4), we note that

$$B_n^{(c)}(x) = \sum_{k=0}^n T(n, k)x^k, \quad (n \geq 0), \quad (\text{see [12]}). \quad (1.5)$$

When $x = 1$, $B_n^{(c)} = B_n^{(c)}(1)$ are called the central Bell numbers.

It is well known that the Bell number B_m is the number of ways to partition a set of m objects. For example, $B_3 = 5$ because there are five ways to partition the set $\{1, 2, 3\}$ (see [3, 16]):

$$\{1, 2, 3\}; \{1, 2\} \cup \{3\}; \{1, 3\} \cup \{2\}; \{2, 3\} \cup \{1\}; \{1\} \cup \{2\} \cup \{3\}.$$

The two most well known expressions for the Bell numbers are the following (see [16]):

$$B_m = \sum_{j=0}^m S_2(m, j), \quad (1.6)$$

and

$$B_{n+1} = \sum_{k=0}^n \binom{n}{k} B_k, \quad (n, m \geq 0), \quad (1.7)$$

where $S_2(m, j)$ is the Stirling number of the second kind.

In [16], Spivey gave a combinatorial proof of the following addition formula for Bell numbers which generalizes both (1.6) and (1.7):

$$B_{n+m} = \sum_{k=0}^n \sum_{j=0}^m j^{n-k} S_2(m, j) B_k \binom{n}{k}. \quad (1.8)$$

Here n, m are nonnegative integers. It is known that the Bell polynomials are given by

$$B_n(x) = \sum_{k=0}^n S_2(n, k) x^k, \quad (\text{see [3, 15]}). \quad (1.9)$$

In [2], Gould and Quaintance extended the equation (1.8) to the case of Bell polynomials as follows:

$$B_{m+n}(x) = \sum_{k=0}^n \sum_{j=0}^m j^{n-k} \binom{n}{k} S_2(m, j) B_k(x) x^j. \quad (1.10)$$

In view of (1.8) and (1.10), we consider the central Bell polynomials and derive an expression for these polynomials involving the central factorial numbers of the second kind.

Let $F(t)$ be the generating function for the central Bell polynomials. Then we have

$$F(t) = e^{x(e^{\frac{t}{2}} - e^{-\frac{t}{2}})} = \sum_{n=0}^{\infty} B_n^{(c)}(x) \frac{t^n}{n!}. \quad (1.11)$$

From (1.11), we note that

$$\begin{aligned}
 F(s+t) &= e^x(e^{\frac{s+t}{2}} - e^{-\frac{s+t}{2}}) = e^x(e^{-\frac{t}{2}}(e^{\frac{s}{2}} - e^{-\frac{s}{2}}) + e^{\frac{s}{2}}(e^{\frac{t}{2}} - e^{-\frac{t}{2}})) \\
 &= e^x e^{-\frac{t}{2}}(e^{\frac{s}{2}} - e^{-\frac{s}{2}}) e^x e^{\frac{s}{2}}(e^{\frac{t}{2}} - e^{-\frac{t}{2}}) \\
 &= \left(\sum_{k_1=0}^{\infty} x^{k_1} e^{-\frac{k_1}{2}t} \frac{1}{k_1!} (e^{\frac{s}{2}} - e^{-\frac{s}{2}})^{k_1} \right) \left(\sum_{j_1=0}^{\infty} x^{j_1} e^{\frac{j_1}{2}s} \frac{1}{j_1!} (e^{\frac{t}{2}} - e^{-\frac{t}{2}})^{j_1} \right).
 \end{aligned} \tag{1.12}$$

Now, we observe that

$$\begin{aligned}
 &\sum_{k_1=0}^{\infty} x^{k_1} e^{-\frac{k_1}{2}t} \frac{1}{k_1!} (e^{\frac{s}{2}} - e^{-\frac{s}{2}})^{k_1} \\
 &= \sum_{k_1=0}^{\infty} x^{k_1} \sum_{k_2=k_1}^{\infty} T(k_2, k_1) \frac{s^{k_2}}{k_2!} \sum_{k_3=0}^{\infty} \left(-\frac{k_1}{2}\right)^{k_3} \frac{t^{k_3}}{k_3!} \\
 &= \sum_{k_2=0}^{\infty} \left(\sum_{k_1=0}^{k_2} x^{k_1} T(k_2, k_1) \right) \frac{s^{k_2}}{k_2!} \sum_{k_3=0}^{\infty} \left(-\frac{k_1}{2}\right)^{k_3} \frac{t^{k_3}}{k_3!}.
 \end{aligned} \tag{1.13}$$

On the other hand

$$\begin{aligned}
 &\sum_{j_1=0}^{\infty} x^{j_1} e^{\frac{j_1}{2}s} \frac{1}{j_1!} (e^{\frac{t}{2}} - e^{-\frac{t}{2}})^{j_1} \\
 &= \sum_{j_1=0}^{\infty} x^{j_1} \sum_{j_2=j_1}^{\infty} T(j_2, j_1) \frac{t^{j_2}}{j_2!} \sum_{j_3=0}^{\infty} \left(\frac{j_1}{2}\right)^{j_3} \frac{s^{j_3}}{j_3!} \\
 &= \sum_{j_2=0}^{\infty} \left(\sum_{j_1=0}^{j_2} x^{j_1} T(j_2, j_1) \right) \frac{t^{j_2}}{j_2!} \sum_{j_3=0}^{\infty} \left(\frac{j_1}{2}\right)^{j_3} \frac{s^{j_3}}{j_3!}.
 \end{aligned} \tag{1.14}$$

From (1.12),(1.13) and (1.14), we have

$$\begin{aligned}
 F(s+t) &= e^x(e^{\frac{s+t}{2}} - e^{-\frac{s+t}{2}}) \\
 &= \left(\sum_{k_2=0}^{\infty} \left(\sum_{k_1=0}^{k_2} x^{k_1} T(k_2, k_1) \right) \frac{s^{k_2}}{k_2!} \right) \left(\sum_{k_3=0}^{\infty} \left(-\frac{k_1}{2}\right)^{k_3} \frac{t^{k_3}}{k_3!} \right) \\
 &\times \left(\sum_{j_2=0}^{\infty} \left(\sum_{j_1=0}^{j_2} x^{j_1} T(j_2, j_1) \right) \frac{t^{j_2}}{j_2!} \right) \left(\sum_{j_3=0}^{\infty} \left(\frac{j_1}{2}\right)^{j_3} \frac{s^{j_3}}{j_3!} \right) \\
 &= \sum_{n_1=0}^{\infty} \sum_{n_2=0}^{\infty} \sum_{k_2=0}^{n_1} \sum_{k_1=0}^{k_2} \sum_{j_2=0}^{n_2} \sum_{j_1=0}^{j_2} x^{k_1} T(k_2, k_1) \binom{n_1}{k_2} \left(\frac{j_1}{2}\right)^{n_1-k_2} x^{j_1} T(j_2, j_1) \\
 &\times \binom{n_2}{j_2} \left(-\frac{j_1}{2}\right)^{n_2-j_2} \frac{s^{n_1}}{n_1!} \frac{t^{n_2}}{n_2!}
 \end{aligned}$$

$$\begin{aligned}
 &= \sum_{n_1=0}^{\infty} \sum_{n_2=0}^{\infty} \left(\sum_{k_2=0}^{n_1} \sum_{k_1=0}^{k_2} \sum_{j_2=0}^{n_2} \sum_{j_1=0}^{j_2} \binom{n_1}{k_2} \binom{n_2}{j_2} \right) x^{k_1+j_1} T(k_2, k_1) T(j_2, j_1) \\
 &\times (-1)^{n_2-j_2} \left(\frac{j_1}{2}\right)^{n_1+n_2-j_2-k_2} \frac{s^{n_1}}{n_1!} \frac{t^{n_2}}{n_2!}.
 \end{aligned} \tag{1.15}$$

By (1.11), we get

$$\begin{aligned}
 F(s+t) &= e^{x\left(e^{\frac{s+t}{2}} - e^{-\frac{s+t}{2}}\right)} = \sum_{n_1=0}^{\infty} B_{n_1}^{(c)}(x) \frac{1}{n_1!} (s+t)^{n_1} \\
 &= \sum_{n_1=0}^{\infty} B_{n_1}^{(c)}(x) \frac{1}{n_1!} \sum_{n_2=0}^{n_1} \binom{n_1}{n_2} s^{n_2} t^{n_1-n_2} \\
 &= \sum_{n_2=0}^{\infty} \sum_{n_1=n_2}^{\infty} B_{n_1}^{(c)}(x) \frac{1}{n_1!} \binom{n_1}{n_2} s^{n_2} t^{n_1-n_2} \\
 &= \sum_{n_2=0}^{\infty} \sum_{n_1=0}^{\infty} B_{n_1+n_2}^{(c)}(x) \frac{1}{(n_1+n_2)!} \binom{n_1+n_2}{n_2} s^{n_2} t^{n_1} \\
 &= \sum_{n_2=0}^{\infty} \sum_{n_1=0}^{\infty} B_{n_1+n_2}^{(c)}(x) \frac{t^{n_1}}{n_1!} \frac{s^{n_2}}{n_2!}.
 \end{aligned} \tag{1.16}$$

Therefore, by (1.15) and (1.16), we obtain the following theorem.

Theorem 1.1. *Let n_1, n_2 be nonnegative integers. Then we have*

$$\begin{aligned}
 B_{n_1+n_2}^{(c)}(x) &= \sum_{k_2=0}^{n_1} \sum_{k_1=0}^{k_2} \sum_{j_2=0}^{n_2} \sum_{j_1=0}^{j_2} \binom{n_1}{k_2} \binom{n_2}{j_2} x^{k_1+j_1} T(k_2, k_1) T(j_2, j_1) \\
 &\times (-1)^{n_2-j_2} \left(\frac{j_1}{2}\right)^{n_1+n_2-j_2-k_2}.
 \end{aligned}$$

In particular,

$$\begin{aligned}
 B_{n_1+n_2}^{(c)} &= \sum_{k_2=0}^{n_1} \sum_{k_1=0}^{k_2} \sum_{j_2=0}^{n_2} \sum_{j_1=0}^{j_2} \binom{n_1}{k_2} \binom{n_2}{j_2} T(k_2, k_1) T(j_2, j_1) \\
 &\times (-1)^{n_2-j_2} \left(\frac{j_1}{2}\right)^{n_1+n_2-j_2-k_2}.
 \end{aligned}$$

Let us take $n_2 = 1$ in Theorem 2.1. Then we have the following corollary.

Corollary 1.2. *Let n be a nonnegative integer. Then we have*

$$B_{n+1}^{(c)} = \sum_{k=0}^n \sum_{i=0}^k T(k, i) \binom{n}{k} \left(\frac{1}{2}\right)^{n-k}.$$

2. Further remark and an open question

For $\lambda \in \mathbb{R}$, the degenerate exponential function is defined by

$$e_{\lambda}^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}}, \quad (\text{see [9, 10]}). \tag{2.1}$$

By (2.1), we easily get

$$e_\lambda^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad (\text{see [7, 10, 11, 13]}), \quad (2.2)$$

where

$$(x)_{0,\lambda} = 1, \quad (x)_{n,\lambda} = x(x - \lambda)(x - 2\lambda) \cdots (x - (n - 1)\lambda), \quad (n \geq 1).$$

In [8], Kim defined the degenerate Stirling number of the second kind as

$$(x)_{n,\lambda} = \sum_{k=0}^n S_{2,\lambda}(n, k)(x)_k, \quad (n \geq 0), \quad (2.3)$$

where

$$(x)_0 = 1, \quad (x)_n = x(x - 1)(x - 2) \cdots (x - n + 1), \quad (n \geq 1).$$

From (2.3), we note that

$$\frac{1}{k!} ((1 + \lambda t)^{\frac{1}{\lambda}} - 1)^k = \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0), \quad (\text{see [7, 8]}). \quad (2.4)$$

Note that $\lim_{\lambda \rightarrow 0} S_{2,\lambda}(n, k) = S_2(n, k)$, $(n, k \geq 0)$.

In [7], Kim-Kim-Dolgy defined the degenerate Bell polynomials by

$$e^{x(e_\lambda(t)-1)} = e^{x((1+\lambda t)^{\frac{1}{\lambda}}-1)} = \sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{t^n}{n!}. \quad (2.5)$$

Now, we observe that

$$\begin{aligned} e^{x(e_\lambda(s+t)-1)} &= \sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{1}{n!} (s+t)^n = \sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{1}{n!} \sum_{j=0}^n \binom{n}{j} s^j t^{n-j} \\ &= \sum_{j=0}^{\infty} \sum_{n=j}^{\infty} \frac{B_{n,\lambda}(x)}{n!} \binom{n}{j} s^j t^{n-j} = \sum_{j=0}^{\infty} \sum_{n=0}^{\infty} \frac{B_{n+j,\lambda}(x)}{(n+j)!} \binom{n+j}{j} s^j t^n \\ &= \sum_{j=0}^{\infty} \sum_{n=0}^{\infty} B_{n+j,\lambda}(x) \frac{s^j t^n}{j! n!}. \end{aligned} \quad (2.6)$$

Here, we have the following open question.

Question. Can we get a formula similar to equation (1.10) for $B_{n+j,\lambda}(x)$?

References

1. L. Carlitz, J. Riordan, *The divided central differences of zero*, *Canad. J. Math.* 15 (1963), 94-100.
2. H.-W. Gould, J. Quaintance, *Implications of Spivey's Bell number formula*, *J. Integer Seq.* 11 (2008), no. 3, Article 08.3.7, 6 pp.
3. D. S. Kim, T. Kim, *Some identities of Bell polynomials*, *Sci. China Math.* 58 (2015), no. 10, 2095-2104.
4. D. S. Kim, J. Kwon, D. V. Dolgy, T. Kim, *On central Fubini polynomials associated with central factorial numbers of the second kind*, *Proc. Jangjeon Math. Soc.* 21 (2018), no. 4, 589-598.
5. T. Kim, *A note on central factorial numbers*, *Proc. Jangjeon Math. Soc.* 21 (2018), no. 4, 575-588.

6. T. Kim, D. S. Kim, G.-W. Jang, J. Kwon, *Extended central factorial polynomials of the second kind*, Advances in Difference Equations 2019 (2019), 2019:24.
7. T. Kim, D. S. Kim, D.V. Dolgy, *On partially degenerate Bell numbers and polynomials*, Proc. Jangjeon Math. Soc. Vol. 20 (2017), no. 3, 337–345
8. T. Kim, *A note on degenerate Stirling polynomials of the second kind*, Proc. Jangjeon Math. Soc. Vol. 20 (2017), no. 3, 319–331
9. T. Kim, Y. Yao, D. S. Kim, G.-W. Jang, *Degenerate r -Stirling numbers and r -Bell polynomials*. Russ. J. Math. Phys. 25 (2018), no. 1, 44–58.
10. T. Kim, D. S. Kim, *Degenerate Laplace transform and degenerate gamma function*, Russ. J. Math. Phys. 24 (2017), no. 2, 241–248.
11. T. Kim, D. S. Kim, *Degenerate central Bell numbers and polynomials*, Rev. R. Acad. Cienc. Exactas Fs. Nat. Ser. A Mat. RACSAM (in press), DOI: 10.1007/s13398-019-00637-0.
12. T. Kim, D. S. Kim, *A note on Central Bell numbers and polynomials*, to appear in Russ. J. Math. Phys.
13. S.-S. Pyo, *Degenerate Cauchy numbers and polynomials of the fourth kind*, Adv. Stud. Contemp. Math. (Kyungshang) 28 (2018), no. 1, 127–138.
14. S. Roman, *The umbral calculus*, Pure and Applied Mathematics 111, Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, 1984.
15. Y. Simsek, *Identities on the Changhee numbers and Apostol-type Daehee polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) 27 (2017), no. 2, 199–212.
16. M. Z. Spivey, *A generalized recurrence for Bell numbers*, J. Integer Seq. 11 (2008), no. 2, Article 08.2.5, 3 pp.

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA
E-mail address: dskim@sogang.ac.kr

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA
E-mail address: gwjang@kw.ac.kr

HANRIMWON, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA, INSTITUTE OF NATIONAL SCIENCES, FAR EASTERN FEDERAL UNIVERSITY, VLADIVOSTOK 690950
E-mail address: ddol@mail.ru

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA
E-mail address: tkkim@kw.ac.kr